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Mariela’s homework had this problem: ; OJO
60-38=__ L - &
Mariela solved the problem like this: L 2

60-38=59-37 = 2“2 \59

Ari told Mariela, “You can’t do that.” Who is right? 2 )
Show or explain how you know.
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Mariela’s homework had this problem:

60—-38 =

Mariela solved the problem like this:

60-38=59-37 =

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem:

60-38=_") ) &2
3%

. . o /
Mariela solved the problem like this: 29’\

60-38=50-37 = 2 2 ,3(3
,_,/i':_i—
Ari told Mariela, “You can’t do that.” Who is right?

Show or explain how you know.
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Mariela’s homework had this problem: D
60-38=_ )

Mariela solved the problem like this:

60-38=50-37 =
2.2 =4
Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem:

60 —-38 =

Mariela solved the problem like this:

60-38=59-37 =_ )

N\ \\ .

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem: F

60-38=_N7

Mariela solved the problem like this:

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem:

60—38= 27

Mariela solved the problem like this:

60-38=59-37 =__ 1))

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem: H

60— 38 =

Mariela solved the problem like this:

60-38=59-37 =

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem:

60-38= L1

Mariela solved the problem like this:

60-38=59-37 = L7

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.

VE 5
54-37- 60-38
W /\
5¢-3p-24  60-36=9

729-1=272 50-%8=919
212-29

ment Project {OGAP) and the

PR 1


I


Mariela’s homework had this problem: J

60—-38 =

Mariela solved the problem like this:

60-38=59-37 =_) )

Ari told Mariela, “You can’t do that.” Who js right? &CO\VU@
- Show or explain how you know /Mmf’@ A ‘( () 1
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Mariela’s homework had this problem:

60-38= 27

Mariela solved the problem like this:

60-38=59-37 =

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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Mariela’s homework had this problem: L

60—-38 =

Mariela solved the problem like this:

60-38=59-37 =

Ari told Mariela, “You can’t do that.” Who is right?
Show or explain how you know.
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